FEB — 15313/I1T

Political Science
Paper III
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Note : This Paper contains Seventy Five (75) multiple choice questions, each
question carrying Two (2) marks. Attempt All questions.
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Give correct answer by using the

code given below :

Assertion (A) : The behaviourists
generally avoided the use of

historical materials in their study.

Reason (R)

: They avoided the
study of history because its emphasis
on uniqueness of events could lead

to historicism.
Codes :

(A) Both (A) and (R) are correct and
(R) is the answer of (A)

(B) Both (A) and (R) are correct but
(R) is not the answer of (A)

(C) (A) is correct, (R) is false

(D) (A) is false, (R) is correct
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Who among the following declared
that Political Theory is dead ?

(A) Harold Lasswell
(B) David Easton
(C) P. Lasslett

(D) W. Runciman

Give the correct answer by using the

code given below :

(1) The liberals rejected the

principle of natural rights.

(2) The liberals have radically
individualistic view  of

community.

(3) They found the standard of
judgement outside society and

in theory of natural law.
Codes :
(A) (1), (2) and (3) are correct

(B) (1) and (2) are correct, (3) is

wrong

(C) (1) is correct, (2) and (3) are

wrong

(D) (1) and (2) are wrong, (3) is

correct
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Which one of the following is not a

Marxist concept ?

(A) Dialectical and historical

materialism
(B) Theory of surplus value
(C) Theory of Alienation
(D) The Real is Rational

Which one of the following

statements is not correct ?

(A) According to Mill, Individual
has a right to develop his
individuality as a part of well

being.

(B) Individual can suffer
constructive injury in the

pursuit of truth.

(C) Individual may gamble at home
but he has no right to run

gambling house.

(D) Irrespective of its outcome,
the rights of individual are

unlimited.
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Which one of the following pairs is

not correctly matched ?

(A) Plato — Justice means to
be true to your
nature.

(B) Mozes — Justice means
helping the friends
and harming
enemies.

(C) J. Rawls — Justice means
fairness.

(D) E. Barker — Justice means
fitting together
the claims of

individuals.

Which one of the following thinkers
said that ideology was false

consciousness ?
(A) Hegel
(B) Marx
(C) Kant

(D) Bentham
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Which one of the following
arguments was refuted by Lenin in
his book ‘State and Revolution’ ?

(A) Karl Kautsky —

The state is an instrument in

the hands of ruling classes.
(B) Kropotkin —

Withering away of the state

immediately after  the

revolution.
(C) Stalin —

Socialism in one country.
(D) L. Trotski —

Permanent Revolution.

Which one of the following

statements is not correct ?

Mao Tse Tung criticised the Soviet
model of development as he thought
that it encouraged :

(A) Difference between mental and
physical labour

(B) Gap between Urban and Rural

areas

(C) Gap between Industry and
Agriculture

(D) Gap between Party and

Government

8.
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10. Which one of the following books by

11.

Plato describes Socrates’s trial and

punishment ?

(A) The Republic

(B) The Apology

(C) The Laws

(D) The Statesman

In which form of the state, according

to Aristotle, the principle of golden

mean is introduced ?

(A) Monarchy

(B) Oligarchy

(C) Polity

(D) Democracy
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12.

13.

Which one of the following

statements is not correct ?

(A) Machiavelli gave birth to new
political science as he followed

historical method.

(B) Machiavelli wanted his prince
to build new state which was

efficient.

(C) For Machiavelli the interest of
the prince was inferior to reason

of state.

(D) In discourses Machiavelli
justified the immoral politics of

the prince.
Who said it : “I authorise and give
up my right of governing myself to
this man or this assembly of men,
on this condition that thou give up
the right to him, and authorise all

his actions in like manner” ?
(A) John Locke

(B) J.J. Rousseau

(C) Thrasymachus

(D) None of the above

12.

13.
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14. Who said it, “Equality must not be

15.

understood to mean that power and
riches should be equally divided
between all; but that power should
never be so strong as to be capable
of acts of violence and no one should
be sufficiently opulent to be able to

purchase another” ?

(A) J.S. Mill

(B) John Locke

(C) J.J. Rousseau

(D) Saint Simon

Which one of the following

statements is not correct ?

Gandhi’s theory of the oceanic circle

means :

(A) A system of centre-periphery

relationship.

(B) An independent, autonomous
and centralised system of

government.

(C) A non-pyramidal system of co-
existing autonomous and self-

governing villages.

(D) A mechanism to regulate
national life with, if need be,

violent means.

14.

15.
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16.

17.

The behavioural approach to the
study of comparative politics

emphasises :

(A) Purely historical and legalistic

analysis of politics

(B) Normative dimension of politics

(C) Methods of introspection and

subjective deductions

(D) Scientific and empirical

methods to study politics

In Marxist perspective on
Constitutionalism the role of

Constitution is to :
(A) Limit the authority of the state

(B) Protect the natural rights of the

individual

(C) Reflect the existing socio-
economic conditions of the
society in terms of relations of

production

(D) Decentralise the power of the
state to the maximum possible

level

16.

17.
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18.

19.

Which of the following is not a

source of the British Constitution ?
(A) Statutory Law

(B) Common Law

(C) dJudicial Decisions

(D) Roman Law

Match List ‘A’ with List ‘B’
and select the correct answer from

the code given below :

List ‘A’
(1) Russia
(2)
3)

(4)

Japan
Germany
France
List ‘B’
(@) Senate
(b)
(c)
(d)
Codes

(A) (D-(a), (2)-(b), (3)-(c), (4)-(d)
(B) (1)-(b), (2)-(c), (3)-(d), (4)-(a)
(C) ()-(c), (2)-(d), (3)-(a), (4)-(D)

D) (D-d), (2)-(c), (3)-(b), (4)-(a)

Bundesrat
House of Councillors

Federation of Council

18.

19.
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D) (D-(d), (2)-(c), (3)-(b), (4)-(a)
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20. Which one of the following

21.

recommendations was made by
C.M. Stephen Sub-committee with
regard to reforms in parliamentary

procedures ?

(A) Transferring first reading of

certain bills to committees

(B) Reducing parliamentary

sittings by one-third

(C) Increasing right to amend a bill

to its mover
(D) None of the above

Which one of the following
countries is an example of having
Federal Constitution and Federal

Government ?
(A) India
(B) Canada
(C) USA

(D) Brazil
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22. Match the List I with List II and

select the correct answer from the
code given below :

List I

(i) Federation under dual or
multiple monarchies.

(ii)) Federation under legislative
unions.

(zii) Federation under dual empires.

(iv) Federation under decentralized
unitary system.

List II

(1) No guarantee of autonomy as
it is revocable.

(2) Hapsburg rulers of Austria and
Hungary.

(3) Constituent parts are united
only in the person of a
sovereign.

(4) Case of England and Scotland
in 1707.

Codes :
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23.

24.

In which one of the following
decades the bi-election in UK

mattered in consequential way ?

(A) 1970s

(B) 1980s

(C) 1990s

(D) None of the above

Who among the following has
classified political parties as clientele
parties, ethnic parties, religious

parties and class-based parties :

(A) Jean Blondel

(B) Maurice Duverger

(C) M. Ostrogorski

(D) R. Michels

23.

24.
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25.

26.

The three political philosophers who
laid the foundation for the theory of

separation of powers were :
(A) Aristotle, Bodin, John Locke

(B) Aristotle, St. Awugustine,

Thomas Hobbes
(C) Plato, Machiavelli, John Locke
(D) Plato, Bodin, Machiavelli
Political socialisation is primarily :

(A) Extractive function of political

system

(B) Conversion function of political

system

(C) Symbolic function of political

system

(D) System maintenance and
adaptation function of political

system

25.

26.
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27.

28.

The major contribution to the
development discourse by the
proponents of dependency theory

has been :

(A) Enriching the Agrarian model

of development

(B) Rectifying the capitalist model

of development

(C) dJustifying the ecological model

of development

(D) Explaining the process of

‘Underdevelopment’

Who among the following elitist
theorists emphasised the psycho-
logical traits of the elite as the

source of its influence ?
(A) Mosca

(B) Burnham

(C) C. Wright Mills

(D) Pareto

27.

28.
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29. A developing society would have to

pass through four stages to become

a modern society. Arrange the

following stages chronologically :

(A) @) Industrialisation
(z1) Political unification
(z11) National welfare
(tv) Abundance

(B) (@) Political unification
(21) Industrialisation
(z11) National welfare
(tv) Abundance

(C) @) National welfare
(z1) Political unification
(211) Industrialisation
(tv) Abundance

(D) ) National welfare

(21) Industrialisation

(zi1) Political unification

(iv) Abundance
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30.

31.

Which among the following books is
considered to be the first systematic
presentation of group-approach to

the study of comparative politics ?
(A) The Political System

(B) The Nerves of Government
(C) The Process of Government
(D) The Governmental Process

How was the Constituent Assembly
to be composed under Cabinet

Mission Plan ?

(A) Indirectly elected by the system
of proportional representation

from provincial legislatures.

(B) Directly elected members by the

people of India.

(C) Nominated members by the

provincial legislatures.

(D) Elected by restricted and select

franchise.

30.

31.

FEB — 15313/I1T

TITATATHRT HIUTHT TATd didATTR

USIIMEATAT 31T ggardiad e

fagart 9aHg Tgavil HISul hivdrd
At R ?

Ne o o

qQilcdldehed 1

A) fe =g

(B) fe 79 3% Tegde
(C) fe 999 3k THe
(D) f& THea 9Ead

Ffoqe THYE AmA w2 afbd=l @

(aV N

YN YRR Fafaell B ?

(A) wifgewr fafvmsegr Ao

gfdferar=a 4R sy Hasus
(B) W=l SHAAYA Fodel s
(C) wifder fafemigeigR ok

(D) FAifed FAfHRRIER 3MHRa fereueh

17

[P.T.O.



32.

33.

Who among the following was the
Chairman of the Committee on
Minorities Rights in the Constituent

Assembly ?

(A) N. Gopalswamy lyyengar

(B) Sardar Patel

(C) K.M. Munshi

(D) B.R. Ambedkar

Which one of the following was
concerned with the industrial

development of India after

independence ?

(A) Cabinet Mission Plan

(B) Bombay Plan

(C) Mountbatten Plan

(D) Karachi Charter

32.

33.
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34. When was the Constitutional

35.

Amendment to add the provision of

Fundamental Duties made ?

(A) After Chinese war in 1962

(B) After war with Pakistan in

1965

(C) After India-Pakistan war in

1971

(D) During national emergency in

1976

Who among the following said : “If
any government ignores Directive
Principles of State Policy, they will
have to answer for them before the

electorate at the election time.” ?
(A) Sardar Patel

(B) Maulana Azad

(C) B.R. Ambedkar

(D) Jawaharlal Nehru
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36.

37.

Which one of the following is
provided in Indian Constitution vide

Part V, Chapter 1, Articles 52-78 ?

(A) The Union Executive

(B) The Union Legislature

(C) The dJudiciary

(D) Fundamental Rights

The matters of currency, banking,
duties and income taxation belong
to which one of the following Lists

in Indian Constitution ?

(A) Concurrent List

(B) Union List

(C) State List

(D) None of the above

36.

37.
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(A) F9adl =t

(B) %

(C) T gt

(D) ITUeh! <RIV TRl
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FEB — 15313/I1T

38. Which one of the following books 38. ‘3—||{d|('|ﬂ|(r| {|\re,||.€q‘[ {|\r|qq|{U||o|{ﬁ|Qr|
was the first to be published on state BT I Ty gaia e
olitics in India ?
P YeRIIRTd STel Bl ?
(A) Igbal Narain — State Politics .
(A) T AEY — LT Uitaread
in India
grear
(B) Lawrence Saez — Federalism
Without a Centre (B) - :
(C) Myron Weiner — State Politics
in India (C) WA 9 — W< uifaread g
(D) Rajni Kothari — Politics in HES
India (D) ToF Fredt — uiffees g ghem
39. Which one of the following NN o a
39. WlellclUehl <hIVcAl Tdd[dl Hedld
movements was launched in
S U [ 1
Maharashtra ?
(A) Taun Fdes
(A) Chipko Movement
(B) Silent Valley Movement (B) WIHete el Hesdes
(C) Fisher Folk’s Movement (C) WieSARTH Fesdes
(D) Dalit Panther Movement (D) <fera deR <esaies
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40.

41.

42.

Which one of the group of the
following states are free from the

politics of coalition ?
(A) Gujarat, Rajasthan, M.P.
(B) W. Bengal, U.P., Kerala

(C) Karnataka,
Jharkhand

Tamil Nadu,

(D) Punjab, Gujarat, Andhra

Pradesh

Which one of the following is not

included in Indian Constitution ?
(A) Planning Commission

(B) Finance Commission

(C) Election Commission

(D) None of the above

Which one of the following political
parties had made a secessionist

demand ?

(A) TDP

(B) Telangana Rashtra Samiti
(C) Indian Muslim League

(D) DMK

40.

41.

42.
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TSI WATAUh! ShIveT 72T AT

TSR0 AT a2
(A) TSHIY, TSEIH, HLAYRT
(B) ufy=sm a7, ST W, hics

(C) Hlesh, e, IRES

(D) 9@, TR, Y YeSl

RO TTEeAd eltedehl hiurc

el THEY holell Al ?
(A) FESHE =M
(B) fo= =M

(C) Tereur &M

[aY (aY

(D) IcTdeh! hIUAEl TRl

T eTdeh! hIol TSTehid Te™ o

FZT SIUATE HETON shell Bt 2
(A) deTRIM 9

(B) dorTol g @it

(C) WA Hf&T™

(D) gfae -7 Fa%ed (SL.TH.®.)
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43.

44.

Which one of the following groups
of states was not a participant of

Srinagar Conclave in 1980s ?

(A) Punjab, Haryana, Himachal

Pradesh, U.P.

(B) J&K, Tamil Nadu, Andhra

Pradesh, West Bengal

(C) Assam, Karnataka, Maharashtra,

Kerala

(D) Rajasthan, M.P., Orissa, Sikkim

Assertion (A) : The Kesavanand
Bharati Case addressed important
issues in Parliamentary democratic

governance.

Reason (R) : The verdict put limits
on the power of the Parliament to

amend the Constitution.
Codes :

(A) Both (A) and (R) are true but
(R) is not correct explanation

of (A)

(B) Both (A) and (R) are true and

(R) is correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

43.

44.
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1980 =T TIhTd SR Shidary

ETATAdeh] Al Teh T He9Fl STl

qegr ?

(A) UsTe, B, feareea 9oy, W
Ll

(B) ST~ qHSS, Y Yl
ufy=m e

(C) 9™, Hiceh, HENSE, hics

(D) TS, AL Yo91, iR, fafenn

faam= : GEUSI AThIMET I
ARl 3 A Y3 HIEHe
Rt T Haifdd hal.

(A)

HRUT (R) ; A= aream SEe=m
TSAGEE HIATAT AR AT
Al

'F!@H'ﬁiﬁ :
(A) faum (A) 271 RO (R) Sl @R
3R 90 HRU (R) € (A) faumm

3T TIRIHI0 TeR

(B) faum (A) 27for &R (R) Sl ©R
3T AT &Rl (R) ¥ (A) faumm

3T TR0 TR

(C) faum (A) ®|R =’ 99 &RU (R)
I IR

(D) faum (A) F&= 3T I SR (R)
TR 3R
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45.

46.

New Public Management underlined

the importance of :

(A) Corporate State

(B) Interventionist State

(C) Welfare State

(D) Socialist State

According to Woodrow Wilson, the
study of Public Administration is

concerned with :

(A) Complementarity of Politics and

Administration

(B) Dichotomy between Politics and

Administration

(C) Superiority of Politics over

Administration

(D) Subordination of Politics to

Administration

FEB — 15313/I1T

45. TA-TNHAFTTATIA YEAdHh TH

46.

AURMEd &l :

(A) IUHESTA T

(B) TWHIYEN T

(C) FARR T

(D) FHSERT T

N o

REIENSH BIE) HdlTHK QIERNIEEIE2]

A e YhRAl Gy A

(A) TSTHRT I GTEA A< ARG

(B) TSRO o YA A gd

(C) TSRO YIMEAER 953

(D) TISTERROME FRIEATRI 2ol
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47.

48.

For the following question, mark

(A) if both assertion (¢) and reason
(r) are correct and reason (r)

explains assertion (a)

(B) If (@) and (r) are correct but

(r) is not correct explanation
of (a)

(C) If (a) is correct and (r) is

wrong
(D) If both (a) and (r) are wrong

Assertion (a): Scientific manage-
ment upholds standardisation and

functionalisation.

Reason

(r): F.W. Taylor believed

in participative management.

The classical theory of organisa-

tion :

(A) Dbelieves that human behaviour

is not rational

(B) is concerned with formal

organisation structure

(®))

is concerned with informal

organisation structure

(D) is oriented towards human

relations

47.

48.
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Weftel J3ArEet SR a8 (@) STfor o
(r) SIEE TR AT 9 HRI (1) ®
faumMre TRt 3 8d R (A) § S
0.

oM (@) 300 RO () SR ATAA

T RO (r) B (o) TOuMR T
Ta R (B) § S AL

W f949M (@) SR 90 R (r) T
IFFA R (C) & SW ;W

fauM (o) o R () = T FEAA
® (D) & W =

faam@m (@)
YHTONHRIT  (standardisation) 9
HRAASRd (functionalisation) =T

R .

RIMTEART] S oA TgTUA

HRUT  (r) : TH Soog. oo A

HEHMIcHS AT IR el

geeT= oTfveg fagr

(A) Tt I RS THT Y WU
(B) g HEeel Wefyd TR
(C) STAT=TRer e el Hafud 3T

(D) 9l "oy AfYgE TR
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49.

50.

51.

New Public Administration under-

lined :

(A) Efficiency and Economy
(B) Value Neutrality

(C) Management Approach
(D) Social Relevance Approach

In which of the following country the

Chief Executive is plural ?
(A) England

(B) France

(C) Switzerland

(D) U.S.

The ministerial control over

administration is maximum in :
(A) Government Company

(B) Government Department
(C) Joint Public Undertakings

(D) Public Corporation

49.

50.

51.
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T~ AR YRTEA Jeictdehl Tah AEREd
Il e

(A) HEIHAT d FHEHE

(B) HoIdZ¥Id@

(C) HaEaraq gfteshM

(D) wHIfSeh g&aar sifufted gftesA

JEicTUsh! IV UehT SIIA SHIIRRT THE
sgHEl (plural) 3R ?

(A) T

(B) B H

(C) facs

(D) 4.wH.

e e qeeds! TR 9

Ty A

(A) IMERT HY

(B) IME&E @M

(C) T HrEsTeh ST

(D) HESifeh HRHEs
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52.

53.

For Max Weber, which one of the
following is not a characteristic
of bureaucracy as a form of

organisation ?

(A) Selection by merit

(B) Hierarchy of offices

(C) Strict adherance to rules

(D) Public Jobs as personal favour

Empowerment of women became
one of the important objectives
in one of the following Five Year

Plans :

(A) Third Five Year Plan

(B) Seventh Five Year Plan

(C) Eighth Five Year Plan

(D) Ninth Five Year Plan

52.

53.
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e IR AT AAER JEietush! Shiord

T AhWMEN GoeA=l IR RUH

e AR ?

(A) IEATER e

(B) AfyepRag=l Q=

(C) ¥ FReHR geH

(D) SRfRTh ATIRITIR WSl +eh SIFTER

gt

il HOCHh{o T Jelardehl v

~e N

Jedifter deHe e 3R B ?

A) fau@t d=anftfer s

(B) 9rael goEnftier IS
(C) 3Teal g=aftier s
(D) el GEftieh IS

27

[P.T.O.



54.

55.

Findings of Public Accounts

Committee are important because :

(A) These are valuable for future

guidance

(B) All members of the committee

are experts

(C) These relate to the transactions

to be completed

(D) These can prevent current

expenditure

Distinction between traditional and
development administration is that

traditional administration :

(A) emphasises regulatory work

(B) has flexible and developing

structures

(©)

is human relationship oriented

(D) takes initiative and is dynamic

54.

55.
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qEseh o gfde ey T

HAld, 9T

(A) =1 qEd ARTGRIEREl STERT
Bl

(B) I Gffdidiel 9d 99E a9 A9drd

(C) = FaY Y01 h{ear=A HATRL

Tl

(D) = Hes =le] Teier gfaee sl

Il

IRURe 9 foeh™ T Irdiel ek WSl

IRUfr IR

(A) fEmes FEER W <A

(B) <Im=A1 | AAafueh o foeshree e

SHdId

(C) Al oY YaU A9

(D) 1 YR =d A Tfasiieal o 19d
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56.

57.

58.

Second Administrative Reforms
Commission was appointed by the

Central Government in the year :
(A) 1966
(B) 1990
(C) 2005
(D) 2010

The theory that “Administration

is culture-bound” has been
propounded by :

(A) Chester Barnard

(B) F.W. Riggs

(C) F.W. Taylor

(D) Woodrow Wilson

Panchayati Raj owes its existence to
one of the following Article of the

Indian Constitution :
(A) Article 14
(B) Article 15d
(C) Article 31

(D) Article 40

56.

57.

58.

FEB — 15313/I1T

N e n

%5 IEA fgda gemEa gEmon
s fged qEieriet T e
el

(A) 1966
(B) 1990
(C) 2005
(D) 2010

‘TR § 9%hdies od @ fasa

qEicTdeh! TehH HiSell :

(A) ==X TS

(B) Thexy. o
(C) ThE=Y. IR
(D) oS! foeda

T Usara AfEdca WA=l

TegeeAdld Geld hetHrear  SATERA

AE

(A) e 14
(B) e 15d
(C) <hemH 31

(D) hetH 40
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59. Which of the following statements

regarding PPP (Public Private

Partnership) is correct ?

(1)

(2)

3)

4)

(A)

(B)

(©)

(D)

Private management of public

services

Outright sale of public services

PPP does not reduce the

responsibility and accountability

of government

PPP is public partnership and

private projects

(1), (2) and (3) are correct

(2), (3) and (4) are correct

(1), (2) and (4) are correct

(1), (3) and (4) are correct

FEB — 15313/I1T

59. Yerad®! PPP (@rdwfA®-wIre

TeUNT) Hael qéerdesh! Siva faum

AT AR ?

(1)

(2)

3)

4)

(A)

(B)

(©)

(D)

HeSieh TaTa WS ST

qresieh Haret qui fosn]

PPP He IR SeERR! fehan

SIETI et B A&l

PPP U HESieh {RMeRT 37for

WS Yehed

(1), (2) 9 (3) SRR 3R

(2), (8) 9 (4) TSR 3T

(1), (2) o (4) SR Aed

(1), (8) 9 (4) SR 3T
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60.

61.

Self-determination means :

(A) Assertion of nationalities to
determine what authority will

rule them

(B) A decision-making process
guided by careful study of

situations

(C) A method of decision-making
based on having perfect

information

(D) A concept derived from Charles
Darwin’s theory that argues
that ruthless competition is

ethically acceptable to survive

Which one of the following is a
process in which a third party
participates in negotiations between

contending parties ?
(A) Use of good offices
(B) Arbitration

(C) Mediation

(D) Enquiry

60.

61.
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TR BN

(A) I ATSERT IR TS HIR

T TR 0

(B) ufifeerdi=a ®resiiga® Holed
SATE G BIORT RO
EIERI

(C) @Fgs wrfedia sfrenfyd fAof
O qgd

(D) rfeaca fewmauamarst=t A

eyl Afqegsen o= R, &

e eifdTe fagraer snenfia

HheTT

EeiciUeh! vl Gfshad S Hesird
qeTI=aT arerereiael fawu a1 «mm

udl 2

(A) 3T9c AfUSRET TRl Thd
OIS W=7 YA HL0)

(B) <@g
(C) wegeelt
(D) <rehyt
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62.

63.

64.

The following pair of countries
played a leading role in the
formation of IOR-ARC (Indian
Ocean Region Association for

Regional Co-operation) :
(A) India—Australia
(B) India—South Africa
(C) India—Singapore
(D) India—Mauritius

Who claims that “national interest

can be determined objectively” ?
(A) Feminists

(B) Post-modernists

(C) Realists

(D) Liberals

Who among the following normally
has maximum influence on the

making of Indian Foreign Policy ?
(A) Prime Minister

(B) Parliament

(C) Ruling Party

(D) Foreign Minister

62.

63.

64.
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2IMIT TTATATRT HITTeAT SIS
IOR-ARC =1 ffifdia wewars sffiren
ENIER I

(A) Rd— e feram

(B) wRd—<f&or atfhent
(C) wRa—TamgR

(D) WRd—HIE™

“Ireefea srgfeeunl fuifa ear 3" s/
SO IS 38 ?

(A) it

(B) SW-3MYfeharct
(C) =raaE!

(D) SERHAERE]

TRAD TSR AT Fishaar

T&Ad: hIUTal Faifeeh Jure T&ar ?
(A) qagH™

(B) &&e

(C) &t v&t

(D) TRASTHA
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65. The Realist Theory is based on the

66.

premise that :

(A)

(B)

(®);

(D)

Application of Reason and
Universal Ethics to Inter-
national Relations can lead to

a more orderly world.

World peace and prosperity can
created through law, global
governance and co-operation

among states.

Political integration of states
is possible through the creation
of Inter-Government Organisa-

tions.

World Politics is essentially a
struggle among self-interested

states for power.

End of the Cold War has resulted

in :

(A)
(B)
(®))

(D)

End of nuclear proliferation
End of inter-state war
End of bipolarity

End of power politics

FEB — 15313/I1T

65. ardaae! fHgiae TEae 3™ &

66.

(A)

(B)

(®);

(D)

fags snfor Gt Fifqa=n amn
S fues guHfed 2.

STIST, Sfase  Imga A1for

TSIRTSTIHENA Tgahtd  II=a1gR
StrTfder Sridan STfor go=rar geenfua
HA I

SMAWSEE HeeAT=al AL

TSI USTh1d ThTcHIhLUT hu]

I 3TTE.

SITfdeh  USTeh 0T TS Lafedr
I A TSArHE A FE

viiags Hoedran aRum

(A)

(B)

U JHRERET 37d

e o s

(C) fgygatad=n &1

(D)

g SRR 37d
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67.

68.

Match the pairs and select the
correct answer from the codes given
below :

List T
Internal rebellion

Ethnic conflict

(@)
(b)
(c)
d)

Separatism
Insurgency
List IT

The struggle of the LTTE in Sri
Lanka

@)

(i) Overthrow of Mubarak regime
in Egypt

(z11) The NSCN (IM) in Nagaland
(tv) Pattani Province in Thailand

Codes :

(@ B © @
A @ O @ 6@
B @ @ @ G
©) @) @ @ O
M @) @G O G

In which of the following countries
UN-mandated use of force helped
the rebels overthrow the dictator of
the country in August, 2011 ?

(A) Tunisia
(B) Egypt
(C) Libya
(D) Syria

67.

68.
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I S Teoal ST Wil Hebd
eildiel  3Teleh S ferer

Tt 1
(@) @I IS
(b) =ifere gerd
(c) THRAER
(d) 9IS 33

et o
G) oliciehdial T3 gud

(i) IHY HaRE See I

EAEaY|
(iif) eieqY TI.OE. LT, (TE.TH.)

(jv) UAFGSHHTA Tt U

-
.
-

(@ B © @
A @ O @@ @
B @ @ @ G
©) @ @ @ O
M) @) @G O G

Geftetdehl shivredl 29 M=, 2011
Y T TSI THA sholedl Soal=l
SIS TSEIRHAT T QU gohHSIE]
qSTee IS RUA Hed et 2

(A) Hgffern
(B) sfN=
(C) fetfern
(D) i
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69.

70.

Which of the following statements
correctly describes India’s Policy in
Mayanmar ?

(A) India the
ruling military regime while

accommodated

quietly and subtly working for
democratic change

(B) India supported the National
League for Democracy and
denounced the rule of the

military regime

(C) India followed a policy of
strict “non-interference” in the

internal affairs of Myanmar

(D) India always supported the
military regime and denounced

the democracy movement

India-China relations have become
far more complex today than in the
1960s, because :

(A) the two countries have become
the largest trading partners of
each other

(B) the two countries co-operate at
multilateral level but continue

to have many bilateral disputes

(C) the

embarked upon naval expansion

two countries have

(D) the two countries have not yet

resolved their border dispute

69.

70.
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WeficAdeht hiord faum mmaRfesE=mn
ORAr= SR A 90 g ?

(a)

(A) YA TehT SISl SToehil TSTareit
I3 bd FAHAH THAT S
AYALTIU AIhIMal doddosidIgl

YISTEU shedl

YRAME YA AN R SHIRE
gifgen feam amfor aeepdt TSIt
iR el

AAAT S aeiAg Jobid
TEAT 7 HOATH HIOT WA
REE]

YRA AgHE AShi STaidl
rfaen fean Tfor SIReTel <csaes=n
oy sen

1960 =31 SYTHRIUET TS URA-<1H
ey Afye [an(did d9c  3T=q,
FHR

(B)

(®);

(D)

(A) ® <19 Y UHUKIY Faid HIS
£ R O A R B 1 3

(B) ¥ SF <91 dg3eid ook TER
TEHTE HIA el g UTdesior

A 3Tk fade 3TRd

(C) &1 <19 2IMA HisaT FHTUMER
Tifoss wrHed dTeaTaTg g

el TR

(D) &1 S 30 e EE foene
3T Higaaien el
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71.

72.

73.

Which of the following regions
has declared itself a “Nuclear-Free

Zone” ?

(A) South Asia

(B) South-east Asia
(C) East Asia

(D) Central Asia

Which of the following is not
included in the notion of Human

Security ?

(A) Economic security

(B) Environmental security
(C) Regime security

(D) Security of the minorities

How can you best describe India’s

Nuclear Programme ?
(A) Military

(B) Dual Track

(C) Civilian

(D) Technological

71.

72.

73.
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TITATATRT HITTIT AT T ;AT

“SueermEd g% wuA CEiftd w |
e ?

(A) <feror enferen
(B) &= amfyrEn
(C) qd et
(D) \eg S

Al GRE=AT Ghoddd Sl
FIO A= FHER B AR 2
(A) oTfdsh qeam

(B) TAieRUE et

(C) TS TRaT

(D) STeUEEAThT &t

RATAT 3TfUeleh AN AT Ui

Y HAA ?
(A) TR
(B) fgmmit
(C) AT

(D) dIAEHE
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74. What does the principle of Most

75.

Favoured Nation (MFN) in WTO

mean ?

(A) Lower trade barriers for MFN

than other countries

(B) Higher trade barriers for MFN

than other countries

(C) Trade barriers applied to MFN

must be applied to all others

(D) Removal of all trade barriers

for the MFN

Which among the following political

parties have been

opposing

Women’s Reservation Bill ?

(A) Congress, CPI, CPM

(B) RJD, Samajwadi Party, BSP
(C) BJP, RJD, Akali Dal

(D) TDP, NCP, Samajwadi Party

FEB — 15313/I1T

74. Sfas AR GEEATA  Haifus

75.

Taae e’ (MFN) o dearen 3
w2

(A) SR e MFN 9E S9N
3TEUSB HH STHA

(B) ST Uil MFN HE! S9N
3T Y T

(C) MFN 938 IR Side ASUs
AT doled SR AT AN
HUA AN

(D) MFN 98I NN Td 3TS9

TG Zehelel SAHATd

e IGIGEEIRE N RS EIR IR L Z R IR

Regu o= fageRten faiiy edn
ed ?

(A) I, IRA HER TeT, HerIame]
HEfTE 9y

(B) TSI ST S, FHISTAR! Y&, SgsT

HHIST &

(C) YR SFal 98, TR SFal €,
3ThIe T

(D) TFee™ def, UegaR! g 9,
THTSEET qe
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If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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